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18 JIIEMBEEER

KEEBLS R ELTBEARARE
% H I & Al oA b BfL 2 | fLH=E
AIE
r T
#E Hl MEL m3 40.2 40
EELT KK B MEL m3 8.8 9
EBERL MEL m3 8.8 9
EmEIF MEL m2 5.6 6
BRI MEL m3 39.2 40
FEERT o) PRVl m2 23.8 20
BEEET
) -+7hiE
1:0.4
70vJ #£ 35cm m2 20.0 20
A RC-40 m3 7.1 7
REILD—F m 7.4 7
ERT gggotﬂOcm m 7.4 7
MOLET MOLET H<3.0m B R 1.0 1
3Om=H=<50m | &k 1.0 1
FrEgsRT
) N Gr-C-2B-S m 4.0 4
H-FL-WERT |[ERE75m=L<100m m 8.0 8
2 o a2 Gr-C-4E BH A m 4.0 4
BT
HAaHE m2 6.9 7
BEMBETL
SRR FARIT7IE t=5cm m 101 10
HpigL FARI7IVE t=5cm m2 8.6 9
m3 04 04
s - 5 FARIFIE X 2.35 t 1.0 1.0
=ML E A m 8.0 8
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KEMEIATE HHHBERERARE
% B I iE 7 Al oAl OB B #% 2 | AHLEHE
FRIZZIVMAET
BERMEAS
== t=5cm m2 5.6 6
t=10cm
iz HIEAR A (M-30) m2 5.6 6




TTITERSE LELILE (MEL) C= 0.9
LRELE BEL) L= 12

28I T (L E) BEIT - fE¥LT
BTN BEL 40.2 HE | R | MILE | mtE
Bt |MEE 0.0 | 0.0
#5 |ME: 98 | 88
asp |MEL 402
Adt 9.8 | 88
XHpIWE= (BTE) 0.9
fFREIT GHLE) > Bt LB (4L )
WmARYE 5L 8.8 > ME+  40.2+8.8+0.0 = 49.0
#ED 0.040.0:00 = 0.0
49.0-9.8 = 39.2
a5t M=+ 8.8




t T ¥ B H ¥
£ Hl-C(SE) K ¥E-E(SE)
BRBEES | XMHEHEH| BE B | ToEER KR b m fE | FHmEE KB
(m) (m2) (m2) (m3) (m2) (m2) (m3)
BP
SECT 0.0 5.2 1.1
SECT 4.0 4.00 5.3 5.25 21.0 1.1 1.10 44
EP
SECT 8.0 4.00 43 4.80 19.2 1.1 1.10 44
& &t 8.00 40.20 8.80




T T B E H B £
BEL HEEE
AEARS | XMHEH|WoE FTHwmERE KB W iE TovwEeE |8
(m) (m2) (m2) (m3) (m2) (m2) (m3)
BP
SECT 0.0 1.1 0.7
SECT 4.0 4.00 1.1 1.10 44 0.7 0.70 2.8
EP
SECT 8.0 4.00 1.1 1.10 44 0.7 0.70 2.8
& &t 8.00 8.80 5.60




SEEERL # 2t &
SEEERIG ny)FEER)-SL
BAES | XMHEEH| Z@m | FHRS| @R
(m) (m) (m) (m2)
BP
SECT 0.0 3.2
SECT 4.0 4.00 3.3 3.25 13.0
EP
SECT 8.0 4.00 2.1 2.70 10.8
= 8.00 23.80




BT w B # H &
avy)—kJayoE-sL BIARAR-Gv
HABS |XMEEM| 2@ | FTHRS| @R WERE | FwmEsE A
(m) (m) (m) (m2) (m2) (m2) (m3)
BP
SECT 0.0 3.0 1.1
SECT 4.0 3.70 3.0 3.00 1.1 1.1 1.10 41
EP
SECT 8.0 3.70 18 2.40 8.9 0.5 0.80 30
&% 7.40 20.00 7.10




HET

B
0
\QQ L= 7.4 m
100
\\ :
o
o e
AR
s
e g 520 190 N\ zpps
RG-40
120
. . BNy ER =
E BB = = we e B =
10m&Y
avs)—k 0 ck=18N/mm2/(0.520 X 0.300)-(0.420 X 0.200 X ) X 1/2 X 10.0 1.14) 74 084 m3
B INEUEEY 1(0.300+0.100) X 10.0 400 74 296 m?2
HERR t=200mm |0.720 X 10.0 720 74 533 m2
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HA—FL—J1
(Gr-C-2B-%)
L= 8.0 m
avo2y—+F
o ck=18N/mm2
|
}
\
!
= ‘ 'ed
< > g
~ i ]
1060
9 X2
687 NEREE
ELAL (RC-40)
1: 3 / 127
. o TL sl l') EE -
& % g =t B 5 ¥ &
= [E03i1 =
10m&Y
avyl)—k 0 ck=18N/mm?2/(1.060+0.500) X 1/2 x 0.800 X 10.0 6.24| 80 499 m3
B INBURESEY | (1.077+1.044) X 0.800 X 10.0 16.97| 8.0 1357 m2
BEIJLRIL 1:3 1.060 % 0.030 x 10.0 0.32| 80 025 m3
RC-40
HERR t=10cm (0.687+0.727) x 1/2 X 10.0 707, 80 566 m2




REaVH)—

73
O —F
o ck=18N/mm2 L= 74 m
QO
¥y
i
!
/
i
i
zf
- . BNy ER =
E BB = = we e B B
10m&Y
avy)—k 0 ck=18N/mm?2/(0.450x0.180) X 1/2 X 10.0 041 74 030 m3
B INBURESEYD (0.180% 10.0 180, 74 133 m2




15/hA1T

B&
300
N = 1.0 HRT
< <
() (=)
o~ o~
(ap] (5]
. A4y ER =
% ™ B % =1 =% ﬂLLE, - B =
= 03 =
1ERrHY
B T (0.808+1.128) X 1/2 X 3.20 3.098
a9 —k | ock=18N/mm2/3.098 X 0.3 093] 10 093 m3
U —feEIP  3.098 % 2.0 6.20, 1.0 6.20 m2
{egEEp (3446 %03 1.03] 10 1.03 m2




25/AlET

B
300
808
N = 1.0 HRT
= =
b b
. A4y ER =
& F HO® = = 5145 - H =
* = [E03i1 =
1ERrHY
] (0.808+1.018)x 1/2x2.10 1.917
avg)—bk | ock=18N/mm2|1.917%x0.3 058/ 1.0 058 m3
iU —pRFIpE (1.917%20 383 10 383 m2
bgrEise  [2.261x03 068 1.0 068 m2




HET B E B OE B
T RI7 IV iz
BSES | XMEHERH & FihE miE £ FihE miE
(m) (m) (m) (m2) (m) (m) (m2)
BP
SECT 0.0 0.7 0.7
SECT 4.0 4.00 0.7 0.70 2.8 0.7 0.70 2.8
EP
SECT 8.0 4.00 0.7 0.70 2.8 0.7 0.70 2.8
= 8.00 5.60 5.60




BT ¥ B B H
it (RE)
ARBEES | XMEE#| ER EHRSE miE
(m) (m) (m) (m2)
BP
SECT 0.0 34
0.50 34 3.40 1.7
1.60 0.0 1.70 2.7
EP
SECT 10.3 2.3
0.50 2.3 2.30 1.2
1.10 0.0 1.15 13
& &t 3.70 6.90




RET w 2 #H ® =
EHEEERIR T (t=5¢cm) BBl
ARES | XMEEHH RS EHRS miE RS
(m) (m) (m) (m2) (m)
BP
SECT 0.0 0.00 1.0 1.0
SECT 4.0 4.00 1.1 1.05 42 40
EP
SECT 8.0 4.00 1.1 1.10 44 40
1.1
§ 8.00 8.6 10.1
8.6 X 0.05= 0.4 m3
0.4 x 2.35t/m3= 1.0 t




